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I. Choose the words whose underlined part is pronounced differently from that of the

others in each group.

1. A. magic B. acting C. fantasy D. island

2. A. east B. clean C. seat D. great

3. A. like B. tick C. kitchen D. dinner

I1. Find the word that differs from the other three in the position of primary stress.
4. A. audience B. adventure C. noticeboard D. mystery

5. A. secret B. scary C. event D. outdoor

II1. Choose the word/ phrase (A, B, C or D) that best fits the space in each sentence.

6. What is your subject at school?

A. interest B. favorite C. liking D. favorites
7.Ina class, you study about living things like plants and animals.

A. literature B. science C. biology D. physics
8. Your desk is very dirty. 1s clean and tidy.

A. My B. Me C. Desk D. Mine
9. this program or can I turn the TV off?

A. You watch B. Are you watching

C. Do you watch D. Did you watch

10. Don’t be so selfish. You should share your candy your friends.
A.to B. for C. from D. with

IV. Use the correct form of the word given in each sentence.

11. Janina and Kim can’t go shopping now because it’s hard. (RAIN)

12. Thank you for me to your birthday party. (INVITE)

13. Today is a day. We can play badminton in the garden. (LOVE)
14. She is pretty, with long hair and a smile. (FRIEND)
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15. Simon is very when his friends have problems with their homework.

(HELP)

V. Read the passage and decide whether the following statements are True (T) or False
).

Chris and Liam Hemsworth are brothers. They’re from Australia, but they aren’t really
Australian. Their grandfather is Dutch, from the Netherlands. Chris is thirty-two years old and
Liam is twenty-seven. They are tall and handsome, and are both famous actors. In family
photographs, they look very similar; they both have short hair and blue eyes. But in films,
they are completely different. Liam is Gale in the three Hunger Games films. Gale is a very
brave and strong young man with short dark hair. He can fight and hunt, and he can shoot
arrows. He’s also an angry young man. Chris is Thor, the superhero in the Thor and Avengers
films. Thor’s big and strong with long blond hair. He can shoot lightning. Gale can’t do that.
16. Chris and Liam come from Australia.

17. Chris and Liam have short hair and blue eyes.

18. Gale and Thor aren’t very different.

19. Thor 1s big and has long blond hair.

20. Gale and Thor are strong and can shoot lightning.

VI. Read the following newsletter and fill in each blank with a suitable word/phrase

from the box.

practice  indoor outdoor  excited fun

Hello, everyone!

We have a great news. It’s our turn to host the Weekend Playground next Saturday on our
school campus. It starts at 9 a.m. and ends at 8 p.m. Admission is free for all of students as
usual. You can invite your friends to come and have (21) together. We have lots
of activities for you to join. For (22) activities, there is a soccer game at 3 p.m. To
join the teams, you need to sign up on the school’s website before the end of this week. You
also need to (23) with your team before the game begins. For (24)

activities, the Arts and Crafts Room opens all day for those who like making things. We also
have an interesting show — Romeo and Juliet performed by our Drama Club at 6 p.m. We’re
really (25) to welcome you all.

VII. Rewrite the following sentences without changing the meaning.
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26. Our/ short/ has/ hair/ is/ brown/ teacher/ and/ long/

27. wearing/ She/ blue T-shirt/ 1s/ jeans/ a/ and/

28. does/ What/ like/ Linda/ subject/
?

29. meet/ at the sport ground/ They/ after dinner/ always/ their friends

30. parking place/ near the shops/ they/ find/ rarely /a

THE END
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